Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY
Winter Examination-2019

Subject Name: Thermodynamics
Subject Code: 2TEO3TDY1 Branch: Diploma (Mechanical)
Semester : 3 Date : 18/11/2019 Time : 02:30 To 05:30 Marks : 70
Instructions:

(1) Use of Programmable calculator & any other electronic instrument is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.

(3) Draw neat diagrams & figures (if necessary) at right places.

(4) Assume suitable & perfect data if needed.

Q-1 Attempt the following questions (14)
1) General gas equation is........ 01
1) PV =nRT 2) PV =mRT 3)pv"=C 4)C,-Cy=RN
2) Which of the following laws is applicable for the behaviour of perfect gas ....... 01
1) Boyle's law 3) Gas-Lussac law
2) Charle's law 4) All of the above

3) Otto cycle is a........ 01
1) Constant pressure cycle 3) Constant temperature cycle
2) Constant volume cycle 4) Constant entropy cycle

4) Characteristic gas constant of a gas is equal to........ 01
1) C,/C, 2) C\/IC, 3) Cp-Cy 4) C,+Cy

5) The unit of temperature in S.I. unitsis ........ 01
1) Centigrade 2) Celsius 3) Fahrenheit 4) Kelvin

6) The unit of energy in S.1. unit........ 01
1) Watt 2) joule 3) joule/se 4) joule/m

7) The term N.T.P. stands for....... 01

1) Nominal temperature and pressure 3) Normal temperature and pressure
2) Natural temperature and pressure  4) Normal thermodynamic pressure

8) In the polytropic process pv" = Constant if n = 1 the process is termed as 01
1) Constant volume 3) Constant temperature
2) Constant pressure 4) Adiabatic
9) Second law of theromodynamics defines 01
1) Heat 2) work 3) enthalpy 4) entropy
10) A control volume refers to 01
1) A fixed region in space 3) A specified mass
2) Anisolated system 4) A reversible process only
11) Work done in a free expansion process is 01
1) Zero 2) maximum 3) minimum 4) negative
12) A system consisting of more than one phase is known as 01
1) Open system 3) Heterogeneous system
2) Closed system 4) Non-uniform system
Pagel || 4



Q-3

Q-4

Q-5

Q-7

Q-8

13)

14)

(A)
(B)
(®

(A)
(B)

(A)
(B)
(€)
(A)
(B)
(A)
(B)
(A)

(B)
(A)

(B)

Absolute Zero Temperature is taken as

1) -273 °C 2)273 ° C 3)237 ° C 4) None of
these
During Throttling process
1) internal energy does not change 3) entropy does not change

2) pressure does not change 4) enthalpy does not change
Attempt any four questions from Q-2 to Q-8

Write difference between point function and path function.
Write down and explain types of systems.
define following
1) absolute zero temperature 3) Enthalpy
2) density 4) extensive properties
Derive SFEE (steady flow energy equation).
State and explain first law of thermodynamics for non cyclic process of a closed
system.
Explain Boyle’s Law, Charle’s Law and Galusec’s law with equations.
What are the limitations of the first law of thermodynamics?
Differentiate between Macroscopic view and microscopic view.
Prove that Cp—Cv =R
Describe the Carnot cycle &represent it on P-V & T-S diagrams.
Explain Otto cycle with P-V diagram
Write and explain Kelvin plank statement of second law of thermodynamics.
A heat engine 10000 KJ/hr heat energy from source of temperature 327°C &
rejects 5000 KJ/hr heat into sink of 27°C temperature. Find out its thermal
efficiency & decide whether this heat engine is reversible or irreversible.
Derive characteristic gas equation for ideal gas.
What is entropy? Explain its importance in thermodynamics.
Explain Quasi-static process with neat sketch and diagram.
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1) PV = nRT 2) PV = mRT 3) PV" = C 4) C,
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